## Crice of the Executive Engineer PHE Division Baramulla

Email: kmrphebla@gmail.com (FAX) 01952234575 (Tel) 01952234244

Allotment Order No. 15 of 2023 dated 16-3-022

Name of the agency/ contractor	Abdul Rashid Waja					
Address	Soura Srinagar					
Registration No.	SE/R&B/Gbl/Bandi/CEE/13/Civil/2020-21					
Contact/ Email	_abrashidwaja@gmail.com					
Name of work	Laying Fitting of Pipes, Constt of Chain Link Fencing around Structures and other allied items for WSS Binner Dangerpora under JJM					
References	This office ENIT 53 of 2022 (S.No. 12)					
Accord of administrative approval No. & date	ive 144/SE/Hyd/DB/JJM of 2022-23 dated 31.01.2023					
Advertised Cost	Rs. 15.99 lacs					
Allotted Cost	Rs. 1574256/- (Rupees Fifteen Lacs Seventy Four Thousand Two Hundred Fifty Six Only)					
Time of completion	45 days					

For and on behalf of Lt. Governor of Jammu and Kashmir Union Territory, the above noted work is hereby allotted to you on quoted rates given in the Annexure "A" t this allotment, on the terms and conditions given here under:

## **Conditions:**

05.

Time of completion is essence of the contract. 01.

The work shall have to be started by you at site immediately & ensure its successful completion within a period of 45 days from the date of issuance of allotment from this office 02. strictly in accordance with the approved proposals failing which the work shall have to be got executed through any other means at your risk and cost, besides CDR deposited by you as security against this contract shall be forfeited.

An agreement shall have to be drawn up by you with the department within a period of 07 days from the date of issuance of allotment failure to execute such a formal deed shall not 03.

however prevent the contract from being enforced upon you.

The allotted works shall be subject to Check by the third party monitoring agency appointed 04. by the Department. Payment shall be released as per actual / measured work done not less than 20% of the

allotted cost on a monthly basis.

Performance security equivalent to 03% of the value of the contract shall have to be deposited by you in shape of CDR/FDR/Bank Guarantee within one week of issuance of 06. allotment order & Valid for a period of 03 months beyond the expiry of warranty period of the contract.

The firm shall be bound for satisfactory performance of works for 18 months after the 07. successful commissioning of the works. If during warranty period any malfunctioning / defects arise, you shall have to rectify the same within a period of 10 days of receipt of intimation. In case of any failure on your part, the department may get the defects removed / repaired by any other means and cost thereof shall be recovered from you and shall be recommended for further punitive action as governed under the relevant clause of the contract including black listing.

After testing and commissioning of works you shall have to make a trial run of the works for a period of 03 months during which you have to operate and maintain the executed works to

the full satisfaction of the department.

- The defective liability period shall be for a period of 12 months and shall commence after the 09. successful completion of trial run.
- Pre & post Geo-tagged photographic evidence be taken during the execution of the work and 10. shall have to be produced at the time of submission of the bill.
- Date of start of the work within 07 days from the date of issue of this letter. However date of 11. start for laying and fitting of pipes will start within 02 days of issuance of pipe material by the department.

All other terms and conditions shall be applicable as laid down in Standard bid Document & 12.

PWD form No. 25/33. Any rules/ terms and conditions if no stipulated in the bidding document, shall be strictly 13. dealt in accordance with the relevant rules/ guidelines stipulated in General Financial Rules (GFR-2017 and manual for procurement of works 2019 G.O.I).

Flanges involved (if any) shall only be used in case of extreme exigencies, like rocky terrain, gorge & where trench is not possible.

(Encl: Annexure "A")

No. 11692-11704 Dt. 16-3-023

Shaktubepartment Baramulla

1/- Mission Director, Mission Directorate Jal Jeevan Mission J&K Civil Secretariat Srianagar/ Jammu for

2/- Chief Engineer Kashmir PHE Department Srinagar for favour of information.

3/- District Development Commissioner Baramulla (Chairperson DJJM) for favour information.

4/- Distt. Superintending Engineer Hydraulic Circle Bla/Bpr HQ Sopore (Member Secretary DJJM) for information. This is with reference to his authorization No: 2105-14 Dated: 04-06-2022.

5/- Additional District Development Commissioner Baramulla (Member DJJM) for information.

6/- Assistant Commissioner Development Baramulla (Member DJJM) for information.

7/- Divisional Forest Officer Baramulla (Member DJJM) for information.

8/- Chief Planning Officer Baramulla (Member DJJM) for information.

9/- Chief Medical Officer Baramulla(Member DJJM) for information. 10/- District Social Welfare Officer Baramulla/ District Tribal Welfare Officer Baramulla(Member

DJJM) for information. 11/- District Information Officer Baramulla (Member DJJM) for information.

12/- Asstt. Ex. Engineer PHE Sub Division Watergam, for information.

13/- File Concerned.

Comp. by: ShahidFarooq (Correspondence)

## eProcurement System Government of Jammu And Kashmir

## Annexure "A"

ing Fitting of Pipes, Constt of Chain Link Fencing around Structures and other allied items for WSS Binner Dangerpora under JJM

.No	Description of Work / Item(s)	No.of Qty	Units	Rate	<b>Total Amount</b>
	Earth work in Excavation by manual means in trenches for foundations drains, pipes, cables etc.(not exceeding 1.5mtrin width and for shafts, wells, cesspits, and the like not exceeding 10sqm on plan, depth upto 1.5mtr including disposal of excavated earth upto 1mt from cutting edge, disposed earth to be leveled and neatly dressed in:	912.300	Cum	436.000	397762.80
2	Earth work in excavation by manual means over areas (exceeding 30 cms and upto 1.5mtr in width as well as 10 sqm on Plan) including disposal of excavation earth upto 1 mtr for cutting edge, disposal earth to be levelled and neatly dressed in ordinary rock	28.3000	Cum	967.850	27390.155
3	Laving & fitting of G.I. pipes complete with G.I. fittings excluding	./			0.000
	trenching and refilling etc. (external work)	1270.000	Mtr	20.250	25717.500
3.1	15mm dia G.I pipes	1550.000	Mtr	20.250	31387.500
3.2	20mm dia G.I pipes	1500.000	Mtr	30.650	45975.000
3.3	25mm dia G.1 pipes	1300.000	Mtr	40.800	53040.000
3.4	40mm dia G.I pipes	680.000	Mtr	40.800	27744.000
3.5	50mm dia G.I pipes	750.000	Mtr	73.050	54787.500
3.6	80mm dia G.I pipes	600.000	Mtr	107.700	64620.000
3.7	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20 cm in depth, consolidating each deposited layer by ramming and watering, lead upto 50 m and lift upto 1.5 m.		cum	198.700	160947.000
5	Making connection of G.I. distribution branch with G.I. main of following sizes by providing and fixing Tee, including cutting and				0.000
	threading the pipe etc. complete	6.000	No	666.250	3997.500
5.1	The second process of the second seco	6.000	No	1268.750	7612.500
5.2 6	Providing and laying hand packed stone soling 50 mm nominal size including filling, spreading, dressing, ramming, all leads lifts and all carriages complete.	15.500	Cum	1320.000	20539.200
7	Providing and laying cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with:  1:4:8 (1 cement : 4 coarse sand : 8 graded stone aggregate 40 mm nominal size)	17.800	Cum	4861.890	86541.642
8	Providing and laying in position cement concrete of apecified grade excluding the cost of centering and shuttering all work upto Plinth level 1:3:6 (1 cement 3 coarse sand 6 graded stone aggregate 40mm nominal size	71.440	Cum	5437.740	388472.146
9	Centering and shuttering including strutting propping and removal of form work etc			/	0.000
9.1	Foundation	267.500	Sqm	262.300	70165.250
9.2	For Walls	23.100	Sqm	573.850	13255.93
10	Providing and fixing of MS bends of required dia and Tee's including carraige of welding machine upto site of work and fixing at site including cost of rubber gasket/washers/nuts bolts etc complete job	40,000	Kg	210.000	8400.00
11	Providing and fixing of MS flanged joints (12mm thick) to double flanged GI/DI pipes including cutting of pipes, welding charges, cutting of flanges, rubber gasket, bolts, nuts including testing of joint and all sorts of carriages. Complete Job. 100mm dia	00,000	Pair	1520.000	136800.0

	Description of Work / Item(s)	No.of Qty	Units	Rate	Total Amount	
	Strctural steel work welded in built up sections, trusses and framed work including cutting hoisting, fixing in position and applying a priming coat of approved steel primer all complete	4016.000	kgs	91.025	365556.400	
13	Providing and fixing G.I chain link fabric fencing of required width in mesh size 50x50mm including strengthening with 2mm dia wire or nute, bolts and washers as required complete as per direction of Engineer - In-Charge Made of G.I Wire of dia 4mm	245.7000	Sqm	858.550	210945.735	
14	Applying a priming coat of water thinable cement primer of approved brnad and manufacture on walls surface ( water thinable cement primer)		Sqm	52.750	12960.675	
15	Painting with redy mixed synthetic enamel paint of approved brand and manufacture in all shades to give an even sahde New steel (two or more caots)		Sqm	121.950	29963.115	
16			cum	260.050	44416.540	
17	carriage of material from source to site of work by Mechnical Transport including loading unloading and stacking etc.	l	e	e	Į <sup>0.000</sup>	
17.1	Below 100mm dia pipe for an avg lead of 12kms	18.150	M.Ton	271.251	4923.206	
17.2	Cement for an avg lead of 12kms	24.370	M.Ton	271.251	6610.387	
17.3	Sand/ Aggregate for an avg lead 30kms	109.8000	Cum	501.653	55081.499	
17.4	Stone Soling for an avg lead of 25kms	15.560	Cum	531.726	8273.657	
17.5		2.930	M.Ton	271.251	794.765	
18	carriage of material from source to site of work by Manual LAbour including loading unloading and stacking etc.	L	e	l	0.000	
18.1		18.150	M.Ton	355.695	6455.864	
W. M.	Total				2371137 36753	
	Quoted Rate @ Below 1.55%					
	Total Allotted Amount (Rupees Twenty Three Lacs Thirty Four Thousand Three Hundred Eighty Five Only)					

Rates & Qty checked by:

Head Praftsman

Executive Engineer
PHE Division Baramulla